

$$\text{الف) } \cos^2 x = \sqrt{2} \sin x - 1 \rightarrow 1 - \sqrt{2} \sin^2 x = \sqrt{2} \sin x - 1$$

$$\sqrt{2} \sin^2 x + \sqrt{2} \sin x - \sqrt{2} = 0$$

$$\sin^2 x + \sqrt{2} \sin x - \sqrt{2} = 0$$

$$(\sin x + \frac{\sqrt{2}}{2})(\sin x - \frac{\sqrt{2}}{2}) = 0$$

$$\sin x = -\frac{\sqrt{2}}{2}$$

$$\sin x = \frac{1}{\sqrt{2}} \checkmark$$

$$\sin x = \frac{1}{\sqrt{2}}$$

$$x = k\pi + \frac{\pi}{4} \quad , \quad x = k\pi + \pi - \frac{\pi}{4} = k\pi + \frac{3\pi}{4}$$

$$\text{ب) } \cos x + \sin x = \sqrt{2}$$

$$\sqrt{2} \cos^2 x + \cos x - \sqrt{2} = 1 \rightarrow \sqrt{2} \cos^2 x + \cos x - \sqrt{2} = 0$$

$$a+b+c=0$$

$$\cos x = 1 \quad x = k\pi$$

$$\cos x = 1 \checkmark$$

$$\cos x = \frac{b}{a} = \frac{-\sqrt{2}}{\sqrt{2}} = -1 \quad \text{غیرممکن}$$

$$\text{الف) } \sin^2 x - \cos^2 x = \sin x \cos x \quad - \cos x = \sin x$$

$$(\sin^2 x + \cos^2 x)(\sin x - \cos x) = -\cos x$$

$$-\cos x = \sqrt{2} \sin x \cos x$$

$$\cos x = 0 \quad x = k\pi + \frac{\pi}{2}$$

$$x = k\pi + \frac{\pi}{2}$$

$$\sqrt{2} \sin x = -1 \quad \sin x = -\frac{1}{\sqrt{2}}$$

$$x = k\pi - \frac{\pi}{4}$$

$$x = k\pi - \frac{\pi}{4}$$

$$x = k\pi - \frac{3\pi}{4}$$

$$x = k\pi - \frac{3\pi}{4}$$

$$\text{ب) } \sqrt{2} \cos x + \sqrt{2} \sin x \cos x = 1 \quad \sqrt{2} \cos^2 x - 1 = -\sqrt{2} \sin x \cos x \rightarrow \cos x = -\sin x$$

$$x = k\pi + \frac{\pi}{4}$$

$$x = \frac{k\pi}{2} + \frac{\pi}{4}$$

$$\sin^2 x (\sqrt{2} \cos x + 1) = \frac{1}{\sin x}$$

$$\cos^2 x (\sqrt{2} \cos x + 1) = 1$$

$$a+c=b$$

$$\sqrt{2} \cos^3 x + \cos^2 x = 1$$

$$\sqrt{2} \cos^3 x + \cos^2 x - 1 = 0$$

$$\cos x = -1$$

$$\cos x = -\frac{1}{\sqrt{2}} = -\frac{1}{\sqrt{2}}$$

$$x = k\pi + \frac{\pi}{2} \quad , \quad \cos x = -1 \rightarrow x = k\pi + \pi$$

غیرممکن

غیرممکن

$$\text{ب) } \sqrt{2} \sin^2 x - \sin x \cos x + \cos^2 x = 1$$

$$\sin^2 x - \sin x \cos x = 1 \xrightarrow{+\cos^2 x} \tan^2 x - \frac{\sin x \cos x}{\cos^2 x} = \frac{1}{\cos^2 x}$$

$$\tan^2 x - \tan x = \tan^2 x + 1$$

$$\tan x = -1$$

$$x = k\pi - \frac{\pi}{4}$$

$$\cos(\frac{\pi}{2} + x) (\cos(x - \frac{\pi}{2})) = \frac{1}{\sqrt{2}}$$

$$\cos(\frac{\pi}{2} + x) \sin(x - \frac{\pi}{2}) = \frac{1}{\sqrt{2}}$$

$$\sin(x + \frac{\pi}{2}) = \frac{1}{\sqrt{2}}$$

$$\cos x = \frac{1}{\sqrt{2}}$$

$$x = k\pi + \frac{\pi}{4}$$

$$x = k\pi + \frac{\pi}{4}$$

$$\text{ب) } \cos(x - \frac{\pi}{4}) = -\sin x = \cos(\frac{\pi}{2} + x) \rightarrow x - \frac{\pi}{4} = -x - \frac{\pi}{2} + k\pi \quad x = \frac{k\pi}{2} - \frac{\pi}{4}$$

$$x = \frac{k\pi}{2} - \frac{\pi}{4}$$

$$\frac{\sin^2 x + \sin x}{\sin x} = \frac{\sin^2 x + \cos^2 x}{\sin x} \rightarrow \sin x = 1$$

$$\sin^2 x + \sin x = \sin^2 x$$

$$\sin x = 0 \quad x = k\pi$$

$$x = \frac{k\pi}{2}$$

$$\frac{\sin \frac{\pi}{r}}{1 + \cos \frac{\pi}{r}} = \frac{1}{\sin \frac{\pi}{r}} + \cot \frac{\pi}{r} \quad \text{و} \quad \frac{1 - \cos \frac{\pi}{r}}{\sin \frac{\pi}{r}} = \frac{1}{\sin \frac{\pi}{r}} + \frac{\cos \frac{\pi}{r}}{\sin \frac{\pi}{r}}$$

$$\frac{1 - \cos \frac{\pi}{r}}{\sin \frac{\pi}{r}} \leq \frac{1 + \cos \frac{\pi}{r}}{\sin \frac{\pi}{r}} \quad 1 + \cos \frac{\pi}{r} \leq 1 - \cos \frac{\pi}{r} \quad \text{و} \quad \cos \frac{\pi}{r} \leq 0 \quad \frac{\cos \frac{\pi}{r}}{\sin \frac{\pi}{r}} \leq 0$$

$\frac{\pi}{r} = r k \pi \quad n = k r \pi$

$$\cos^2 n - \sin^2 n \cos^2 n \leq 1 \quad \cos^2 n - 1 \leq \sin^2 n \cos^2 n \quad \sin^2 n \leq 0$$

$$-\sin^2 n \leq \sin^2 n \cos^2 n \rightarrow \cos^2 n = -1$$

$$\cos^2 n = -1 \quad r n \leq r k \pi + \pi \quad n = \frac{r k \pi + \pi}{r} \quad \sin n = 0 \quad n = k \pi$$



$$\sqrt{1 + \sin^2 n} \leq \sqrt{r} \cos n \quad \sqrt{(\cos n + \sin n)^2} \leq \sqrt{r} (\cos^2 n - \sin^2 n) \leq \sqrt{r} (\cos n + \sin n)(\cos n - \sin n)$$

$$|\cos n + \sin n| \leq \sqrt{r} (\cos n + \sin n) (\cos n - \sin n) \quad \cos n - \sin n \leq \pm \frac{\sqrt{r}}{r}$$

$$\cos n - \sin n \leq \sqrt{r} \sin(n - \frac{\pi}{4}) \leq \pm \frac{\sqrt{r}}{r}$$

$$a \sin n \pm b \cos n \leq \frac{a}{|a|} \sqrt{a^2 + b^2} \sin(n \pm \alpha) \quad \tan \alpha = \frac{b}{a}$$

هنا جابجاء

$$1 + \sin^2 n \leq r \cos^2 n$$

$$1 + \sin^2 n \leq r - r \sin^2 n$$

$$r \sin^2 n + \sin^2 n - 1 \leq 0 \quad \sin^2 n - 1$$

$$\left(\frac{\sin^2 n + r}{r} \right) \left(\frac{\sin^2 n - 1}{r} \right) \leq 0 \quad \sin^2 n \leq 1$$

$$r n \leq r k \pi - \frac{\pi}{4} \quad n \leq k \pi - \frac{\pi}{4} \rightarrow n \leq \frac{r k \pi}{r}$$

$$r n \leq r k \pi + \frac{\pi}{4} \leq r k \pi + \pi - \frac{\pi}{4} \quad n \leq \frac{r k \pi}{r} \rightarrow \cos n \leq \cos \frac{\pi}{4}$$

هذا هو المطلوب

$$\frac{1 - \tan n}{1 + \tan n} \leq \tan r n$$

$$\tan(\frac{\pi}{r} - n) \leq \tan r n$$

$$r n = \frac{\pi}{r} - n + k \pi$$

$$n \leq \frac{k \pi}{r} + \frac{\pi}{14}$$

$$\tan n \neq +1 \neq 0$$

$$\tan n \neq -1$$

$$n \neq k \pi + \frac{\pi}{r}$$

$$\text{جاء) } \sin^2 n - \cos^2 n \leq 1$$

$$\sin^2 n - \cos^2 n \leq 1 \quad -\cos^2 n \leq 1 \quad \cos^2 n = -1$$

$$r n \leq r k \pi + \pi \quad n \leq k \pi + \frac{\pi}{r} \quad \left[0, \pi\right] \rightarrow \frac{\pi}{r}, \frac{r \pi}{r} \quad \text{هذا هو المطلوب}$$

$$\text{ب) } \sin^2 n - \cos^2 n \leq -1$$

$$(\sin n - \cos n)(\sin n + \cos n + \sin n \cos n) = -1$$

$$(\sin n - \cos n)(1 + \sin n \cos n) = -1 \quad \text{هذا هو المطلوب}$$